
User Guide | Version 25.6-1   

 

  

 

 
 

 

 

 

 

 

 

 

 



    
 

 
2 

CADDYBAR™ User Guide 

 

 

 

 

 

 

 

 

 

 

 

 

 



    
 

 
3 

CADDYBAR™ User Guide 

 

Table of Contents 

Table of Contents.................................................................................................................. 3 

Introduction ......................................................................................................................... 4 

Safety Information ................................................................................................................ 5 

Limited Liability Statement .................................................................................................... 6 

Product Overview ................................................................................................................. 6 

Installation Instructions .......................................................................................................14 

Usage Guidelines.................................................................................................................22 

Maintenance and Care .........................................................................................................22 

Troubleshooting ...................................................................................................................22 

Warranty Information ...........................................................................................................23 

Contact Information ............................................................................................................23 

 



    
 

 
4 

CADDYBAR™ User Guide 

 

Introduction 

CADDYBAR™ is an innovative solution designed to elevate the experience for both golf clubs and personal golf cart 
owners. For private and public golf courses, it serves as a strategic enhancement to food and beverage distribution, 
transforming every golf cart into a mobile food & beverage oasis while improving operational efficiencies. For personal 
golf cart owners, CADDYBAR™ is the perfect companion for community joy rides, picnics and neighborly visits, providing 
added storage and convenience. 

This manual will guide you through installation, use, and maintenance to get the best performance from your product.   For 
the most up-to-date support including videos and images use QR code below. 

 

 

 

Product Support 



    
 

 
5 

CADDYBAR™ User Guide 

 

 

 

 

 

 

 

 

Safety Information 

▪ Ensure the CADDYBAR™ and accessories are properly secured before use 
▪ Do not sit or stand on CADDYBAR™ components or accessories 
▪ Do not exceed the recommended weight limit of 30 lbs. (13.5 kg) 
▪ Keep small parts away from children to avoid choking hazards  
▪ Inspect the product regularly for wear and damage  



    
 

 
6 

CADDYBAR™ User Guide 

 

Limited Liability Statement 

CADDYBAR™ is not liable for: 

▪ Damage to personal property due to improper installation, misuse, or not securing properly 
▪ Injuries caused by failing to follow the safety instructions in this manual  
▪ Secure (or remove) the golf cart windshield during installation  
▪ Third-party alterations or modifications to the product 
▪ By using this product, you agree to these terms and conditions. Refer to our full Terms of Service at 

www.caddybar.com 

Product Overview  

Materials: Durable aluminum, Polyurethane, Polyethylene, Reinforced Composite, ABS, Polystyrene 
Dimensions: Adjustable and accessory dependent (Est. 10’ height x 38-42’ width x 4.5’ depth) 
Features: 

▪ Adjustable for secure attachment to golf carts 
▪ Weather-resistant design 
▪ Universal fit for most golf carts 

 



    
 

 
7 

CADDYBAR™ User Guide 

 

Components: 

 

 

 

 
 

 

 

 
 

CADDYBAR 
 

 

 

End Cap 

 



    
 

 
8 

CADDYBAR™ User Guide 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

M3 Screw 
 (VERSION B SETUP) 

 

 

 

C-Clip 
(VERSION B SETUP) 

 

 



    
 

 
9 

CADDYBAR™ User Guide 

 

    

 

 

 

 

 

 

 

 

 

   

 

 
 

M6 Screw 
(VERSION B SETUP) 

 

 

 
M6 Washer 

 

 

    
 

M6 Lock Nut 
 

 



    
 

 
10 

CADDYBAR™ User Guide 

 

      

 

 

  
  
  

 

 

  

 

 

 

 

 

Top Hook 

 

M4 Lock Washer 

 

M4 Screw  
 

T-Nut 

 



    
 

 
11 

CADDYBAR™ User Guide 

 

  

 

 

 

 

 

 

 

M4 Set Screw 

 

Bottom Hook 

 



    
 

 
12 

CADDYBAR™ User Guide 

 

Cart Mount Bar 
(8 inch) 

 

                 M4 Tapping Screw 

 



    
 

 
13 

CADDYBAR™ User Guide 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

HEX L-Key 2mm 

 

HEX L-Key 3mm 

 



    
 

 
14 

CADDYBAR™ User Guide 

 

Installation Instructions 

1. Preparation: 

▪ Remove all components from packaging 
▪ Ensure your golf cart windshield frame is clean and dry 
▪ Combine the Top Hook, M4 Screw, M4 Lock Washer and T-Nut. Screw it together as shown in the picture 

below. 

 

 

 

 

 

 

M4 Screw M4 Lock  
Washer 

Top Hook 

T-Nut 



    
 

 
15 

CADDYBAR™ User Guide 

 

▪ Locate two (2) Cart Mount Bars, insert the previous assembly (Top Hook, M4 Screw, M4 Lock Washer and T 
Nut) to the channel, position them in the center channel bar in preparation for the installation. 
  

 

 

 

 

 

 

 

 

 

 

Top Hook 

Cart Mount Bar 



    
 

 
16 

CADDYBAR™ User Guide 

 

▪ Locate two (2) Bottom Hooks and place (2) M4 Set Screws into each as shown in the picture below. Install 
them at the desired location and height on the Cart Mount Bars.   
Position them at the bottom of the channel bar in preparation for the installation. 

▪ Tighten using the 2mm Hex Key.  
 

 
 
 
 
 
 
 
 
 
 
 
  

M4 Set Screw 

M4 Set Screw 

Bottom Hook 



    
 

 
17 

CADDYBAR™ User Guide 

 

2. Installation 

VERSION A: Cart Mount Bar with M4 Tapping Screws Only (Most Secure and Universal) 

▪ Add the Cart Mount Bar onto the golf cart pre-drilling holes using a 1/8th drill bit in the desired location and 
screwing two (2) M4 Tapping Screws into each side at the desired height.  Ensure you have enough room for 
adding the accessories after the installation and that they will not obstruct vision or the golf cart dash. 
 
 
 
 
 
 
 
 

 
 
 

 
 
 
 

(2) M4 Tapping Screws 
 

(2) M4 Tapping Screws 
 



    
 

 
18 

CADDYBAR™ User Guide 

 

VERSION B: Cart Mount Bar with M6 Screws and C-Clips (Non-Drill Option) 

Notes:   Refer to VERSION A if your golf cart windshield is held on by a “windshield plastic sleeve”  
Parts not available until Q3 2025 

▪ Unscrew the existing bolts that hold the windshield to the golf cart frame (note: depending on the golf cart 
windshield brand, it may require additional tools not included).  

 

 

 

 

 

 

 

 

 



    
 

 
19 

CADDYBAR™ User Guide 

 

▪ Install 3” M6 Screws, M6 Washers and M6 Nuts at the bottom of each Cart Mount Bar. 
▪ Locate two (2) C-Clips and secure them in place at the top of each Cart Mount Bar with a 3mm Hex Key.  

 
   

 

 

 

(1) M6 Screw 
(2) M6 Washers 
(1) M6 Nut 

(1) M6 Screw 
(2) M6 Washers 
(1) M6 Nut 

(2) C-Clips 
(4) M3 Screw 
 



    
 

 
20 

CADDYBAR™ User Guide 

 

▪ Locate the CADDYBAR.  Add M4 Set Screws to T-Nuts and slide into the bottom channel.  Add End Caps to 
each side. (IMPORANT NOTE: T-Nuts with M4 Set Screws MUST be added before the end caps).   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(1) M4 Set Screw 
(1) T-Nut 
(1) End Cap 

 
 

(1) M4 Set Screw 
(1) T-Nut 
(1) End Cap 

 
 



    
 

 
21 

CADDYBAR™ User Guide 

 

▪ Secure CADDYBAR on to Bottom Hooks.  Slide T-Nuts with M4 Set Screws up against the Bottom Hooks on 
each side and tighten to lock into place using a 2mm Hex Key.  Slide the Top Hook down into the top channel of 
the CADDYBAR and lock into place by tightening the M4 Screws on each side using a 3mm Hex Key. 
 

 
 
 



    
 

 
22 

CADDYBAR™ User Guide 

 

3. Final Check: 

▪ Test the installation by gently pulling on the bar to ensure it is firmly attached  
▪ Confirm that the CADDYBAR™ is secure (if not revisit instructions) and add desired accessories 
▪ Add accessories to the bar by inserting top clip into top channel first and push down and in to secure  
▪ To remove an accessory from the bar, locate the bottom tab on secured clip and pull towards you 

Usage Guidelines 

▪ What to Carry: Use the CADDYBAR™ to hold lightweight personal items 
▪ Weight Limit: Do not exceed the maximum load of 30 lbs. 
▪ Securing Items: Ensure all items are properly placed and secured before moving the cart  

Maintenance and Care 

▪ Clean with a damp cloth and mild detergent  
▪ Avoid abrasive cleaners or solvents that may damage the finish  
▪ Store in a dry and protected area when not in use to avoid damage 

Troubleshooting 

▪ Please visit CADDYBAR.com and navigate to the FAQ’s section  



    
 

 
23 

CADDYBAR™ User Guide 

 

Warranty Information 

CADDYBAR comes with a 1-year limited warranty covering manufacturing defects on all the items 

▪ What is Covered: Defects in materials or workmanship  
▪ What is Not Covered: Damage from improper use, installation, or wear and tear  

For warranty claims, please contact our support team with proof of purchase  

Contact Information 

For questions, support, or warranty claims, please contact:  

▪ Website: CADDYBAR.com 
▪ Email: support@CADDYBAR.com 

 

CADDYBAR™ Terms and Conditions of Sale 
All purchases are subject to the Terms and Conditions of Sale as outlined at https://caddybar.com/pages/terms-and-
conditions.  By proceeding with this installation, the Buyer acknowledges and agrees to be bound by these terms.  
 

mailto:support@CADDYBAR.com
https://caddybar.com/pages/terms-and-conditions
https://caddybar.com/pages/terms-and-conditions

